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 TINU –I 

SECIVED GNIHCTIWS REWOP  

)1  snoitacilppA ,segatnavdA noitneM dnA seciveD rotcudnocimeS rewoP fo sepyT eht nialpxE  fO  

rewoP  imeS - rotcudnoC  ?seciveD  ]M01[]2L[  

)2  V nialpxE)a - scitsiretcarahC I  fO  ?edoiD  ]M5[]2L[  

sepyT eht era tahW ,noitatummoC fO ytisseceN )b  fO  ?noitatummoC  ]M5[]2L[  
 

)3  V nialpxe dna warD - RCS fo scitsiretcarahc I  dna  .gnikrowsti  ]M01[]2L[  

)4  alopib etag detalusni tuoba nialpxe ylfeirB gnihctiwss’ti dna )TBGI( rotsisnart r  ]M01[]2L[.scitsiretcarahc  

)5  eht htiw tiucric gnirif ecnatsiseR eht nialpxE  yrassecen  .smrofevaw  ]M01[]2L[  

)6  dna )TEFSOM( rotsisnart tceffe dleif rotcudnocimes edixo latem tuoba nialpxe ylfeirB  gnihctiwss’ti  
 

.scitsiretcarahC  ]M01[]2L[  

.smrof evaw tuptuo eht warD dna noitatummoc egatlov ylfeirb nialpxE)7  ]M01[]2L[  

.TEFSOM fo scitsiretcarahc refsnart dna tuptuo ebircseD)8  ]M01[]2L[  

.smrof evaw tuptuo eht warD dna noitatummoc tnerruc ylfeirb nialpxE )9  ]M01[]2L[  

a )01 egatlovrevokaerb drawrof enifeD)  ]M2[]1L[  

egatlovrevokaerb esrever enifeD)b  ]M2[]1L[  

?ecivedrotcudnocimesrewop fo snoitacifissalc eht era tahW)c  ]M2[]1L[  

.tnerrucgnihctaLenifeD)d  ]M2[]1L[  

.tnerrucgnidloHenifeD)e  ]M2[]1L[  
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TINU - II  

SREIFITCER ROTSIRYHT  

)1  R htiw retrevnoc evaw flah esahp elgnis fo noitarepo eht nialpxE -  evaw yrassecen htiw 06=α ta daoL
uo ,egatlov tuptuo eht evired oslA .smrof tuptuo SMR dna tnerruc tupt  .segatlov  

]M01[]2L[  
)2  R htiw retrevnoc evaw lluF esahp elgnis fo noitarepo eht nialpxE -  .smrof evaw yrassecen htiw daoL

SMR dna tnerruc tuptuo ,egatlov tuptuo eht evired oslA  tuptuo  .segatlov  ]M01[]2L[  

)3   tnereffid eht tsiL)a esahp fo noitacilppa  dellortnoc  .sretrevnoc  ]M5[]2L[  

dellortnoc ylluf dna dellortnoc flah neewteb ecnereffid eht si tahW)b  egdirb  .reifitcer  ]M5[]2L[  
)4   fo evitsiseR si daol eht fI .ylppus zH05 ,V032 a morf detarepo si retrevnoc evaw flah esahp elgnis A

eulav  06 si elgna gnirif dna smho 01 0 enimreteD  
)i  noitacifitcer eht  ycneiciffe  
)ii   rotcaf mrof

elppir)iii  rotcaf  
)vi  noitazilitu remrofsnarT  rotcaf  

)v  egatlov esrevni kaep  fo  .rotsiryht  ]M01[]3L[  
)5   daol LR htiw reifitcer dellortnoc ylluf esahp elgnis fo noitarepo eht nialpxE  egareva eht evired osla dna

SMR dna  daol  .egatlov  ]M01[]2L[  
)6   egareva eht evired osla dna daol LR htiw reifitcer dellortnoc ylluf esahp eerhT fo noitarepo eht nialpxE

SMR dna  daol  .egatlov  ]M01[]2L[  
 

)7   retrevnoc evaw flah esahp elgnis fo noitarepo eht nialpxE LR htiw -  .smrof evaw yrassecen htiw daoL
SMR dna tnerruc tuptuo ,egatlov tuptuo eht evired oslA  tuptuo  .segatlov  ]M01[]2L[  

)8   ,egatlov tuptuo eht evired oslA .daol LR htiw retrevnoc egdirB lluf esahp elgnis fo noitarepo eht nialpxE
tnerruc tuptuo  egatlovsmR&  .snoitauqe  ]M01[]2L[  

)9   egareva eht evired osla dna daol R htiw reifitcer dellortnoc ylluf esahp eerhT fo noitarepo eht nialpxE
SMR dna  daol  .egatlov  ]M01[]2L[  

)01  a ehT )  noitacifitcer  ycneiciffe  ]M2[]1L[  
)b  mroF  rotcaf  ]M2[]1L[  
)c  elppiR  rotcaf  ]M2[]1L[  
)d  remrofsnarT  noitazilitu  rotcaf  ]M2[]1L[  
)e  fo egatlov esrevni kaeP  . rotsiryht  ]M2[]1L[  
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 TINU – III  
CD SREPPOHC - retrevnoc kcuB CD  

)1  htiw reppohc nwod pets fo egatlov tuptuo rof noisserpxe eht evireD  taen  .smargaid  ]M01[]2L[  

)2  ebircseD )a  cd fo elpicnirp eht  .noitarepo reppohc  ]M5[]2L[  

cd egareva sti rof noisserpxe na evireD )b  tuptuo  .egatlov  ]M5[]2L[  

)3  E fo egatlov tupni na sah retrevnoc kcub ehT cd Esi egatlov tuptuo egareva deriuqer eht.V21= 0 V5=  
005=R tA kaep eht dna Ω - ot -  eht fi.zHk52 si ycneuqerf gnihctiws eht,Vm02 si egatlov tuptuo kaep

kaep - ot - eht )b( elyc ytud eht )a( enimreted,A8.0 ot detimil si rotcudni fo tnerruc elppir kaep  retlif  
irc eht )d( dna,C roticapac retlif eht )c( dna L ecnatcudni L fo seulav lacit  dna  .C  ]M01[]3L[  

)4   margaid etairporppa htiW .snoitarugifnoc reppohc fo sepyt suoirav ebircseD ?reppohc cd a si tahW

reverehw  .yrassecen  ]M01[]2L[  

)5  seuqinhceT lortnoC egatloV tuoba nialpxE  .sretrevnI rof  ]M01[]2L[  

)6  o retrevnoc kcub eht nialpxE evaw tuptuo eht ward osla dna margaid fo pleh htiw noitarep  ]M01[]2L[.smrof  
 

)7  htiw reppohc fo noitarepo yratnemele nialpxE  evaw  .smrof  ]M01[]2L[  
 

)8  evaw tuptuo eht ward osla dna margaid fo pleh htiw noitarepo retrevnoc tsoob eht nialpxE  ]M01[]2L[.smrof  
 

)9   ehT E fo egatlov tupni na sah retrevnoc tsoob cd egatlov tuptuo egareva deriuqer eht.V5=  Esi 0 V51=  
I tnerruc daol egareva eht dnA 0  ,Fµ022=C dna Hµ051=L eht fI .zHk52 si ycneuqerf gnihctiws ehT .A5.0=

 rotcudni fo tnerruc elppir eht )b( elyc ytud eht )a( enimreted I rotcudni fo tnerruc kaep eht )c( I∆ 2, 
 roticapac retlif fo egatlov elppir eht )d( V∆ C L fo seulav lacitirc eht )e( dna,  .C dna  ]M01[]3L[  

)01  fo segatnavda eht era tahW )a  reppohc cd  ]M2[]1L[  

)b  fo snoitacilppa eht era tahW  cd  ?reppohc  ]M2[]1L[  
)c  yb tnaem si tahW  ud ?elcyc yt  ]M2[]1L[  
)d  yb tnaem si tahW  pets - nwod  ?reppohc  ]M2[]1L[  
)e  yb tnaem si tahW  pets - pu  ?reppohc  ]M2[]1L[  
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TINU - VI  

ELGNIS - RETREVNI ECRUOS EGATLOV ESAHP  
)1  elgnis eht nialpxE - dna retrevnI ecruoS egatloV egdirb flah esahp  sisylana etats ydaets mrofrep  ]M01[]2L[  

)2  elgniseht nialpxE - sisylana etats ydaets mrofrep dna retrevnI ecruoS egatloV egdirb flah esahp  ]M01[]2L[  
 

.smargaid taen htiw retrevni eht fo noitarepo evaw erauqs nialpxE )3  ]M01[]2L[  

nis ralopib ylfeirb nialpxE )4 .smargaid taen htiw noitaludom ladiosu  ]M01[]2L[  

smargaid taen htiw noitaludom ladiosunis ralopinu ylfeirb nialpxE )5  ]M01[]2L[  

.smargaid taen htiw noitaludom htdiw eslup elgnis ylfeirb nialpxE )6  ]M01[]2L[  

 htdiw eslup elpitlum ylfeirb nialpxE)7 .smargaid taen htiw noitaludom  ]M01[]2L[  

smargaid taen htiw noitaludom htdiw eslup ladiosunis ylfeirb nialpxE )8  ]M01[]2L[  

)9  1 A - 3 =R fo daol evitsiser a sah retrevni egdirb flah Ø egatlov ecruos c.d eht dna,Ω  V /s .V511=2  
)a(   daol,0V rof smrofevaw eht hctekS  egatlov dna 1 edoid dna 1 rotsiryht hguorht stnerruc,10i tnerruc

 kcehC )c( tnerruc latnemadnuf ot eud daol ot dereviled rewop eht dnif)b( .1T rotsiryht ssorca
noitatummoc decrof rehtehw  si  .deriuqer  ]M01[]3L[  

)01  snoitacilppa eht era tahW )a  fo  ?sretrevni  ]1L[ ]M2[  

)b  tnaem si tahW  yb  .ISV  ]M2[]1L[  

)c  decrof rof sdohtem tnereffid eht era tahW  ?deyolpme noitatummoc  ]M2[]1L[  

)d  yb tnaem si tahW  MWP  ?lortnoc  ]M2[]1L[  

)e  yb tnaem si tahW  seires  ?retrevni  ]M2[]1L[  
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TINU -V 

EERHT -  ESAHP RETREVNI ECRUOS EGATLOV  
 

)1  eerht eht nialpxE - 021 htiw retrevnI ecruoS egatloV esahp 0  tuptuo eht evired oslA. edom noitcudnoc
,egatlov  tuptuo  ?tnerruc  ]M01[]2L[  

)2  1 A - 4=R fo daol CLR sah retrevni egdirb lluf Ø  V032 si egatlov tupni cd ehT.Fµ551=C dna Hm53=L , Ω
 osla. cinomrah htfif ot pu tnerruc daol rof noisserpxe na dnif )a( .zH05 si ycneuqerf tuptuo eht dnA

 latnemadnuf eht dna daol yb debrosba rewop eht )c( ,tnerruc daol latnemadnuf fo eulav SMR )b( etaluclaC
fo stnerruc kaep dna smr eht )d( , rewop  iryht hcae .rots  ]M01[]3L[  

)3  eerht eht nialpxE - 081 htiw retrevnI ecruoS egatloV esahp 0  tuptuo eht evired oslA edom noitcudnoc
,egatlov  tuptuo  ?tnerruc  ]M01[]3L[  

)4  1 A - 3 =R fo daol evitsiser a sah retrevni egdirb llufØ E egatlov tupni c.d eht dna,Ω cd  etaluclac.V05=
uo SMR)i E ycneuqerf latnemadnuf eht ta egatlov tupt 1 P rewop tuptuo eht )ii( .  0 dna egareva eht )iii(  

 esrever kaep eht )vi( dna rotsiryht hcae fo tnerruc kaep – hcae fo egatlov gnikcolb  ]M01[]3L[.rotsiryht  

)5  htiw noitaludom htdiw eslup ladiosunis ylfeirb nialpxE   taen smargaid   ]M01[]2L[
1 A)6 - 01=R daol ot detcennoc si cd V032 morf def, retrevni egdirb Ø eht enimreteD.H30.0=L dna Ω  rewop  

tuptuo evaw erauqs )a( htiw zH05 ta gnitarepo si retrevni eht esac ni daol eht ot dereviled  isauq )b(  - 
 na htiw tuptuo evaw erauqs no - rep seslup decaps yllacirtemmys owt )c( dna elcyc a fo 5.0 fo doirep  flah  

no na htiw elcyc - fo 5.0 fo doirep  a elcyc  ]M01[]3L[  
)7  1 A - 3 =R fo daol evitsiser a sah retrevni egdirb flah Ø egatlov ecruos c.d eht dna,Ω  V /s .V511=2  

)a(  daol,0V rof smrofevaw eht hcteks   egatlov dna 1 edoid dna 1 rotsiryht hguorht stnerruc,10i tnerruc
kcehC )c( tnerruc latnemadnuf ot eud daol ot dreviled rewop eht dnif)b( .1T rotsiryht ssorca  rehtehw  

noitatummoc decrof  si  .deriuqer  ]M01[]3L[  
)8   fo sepyt lla  fo ygolopot tiucric eht warD )a( egatloV  ?retrevnI ecruoS  ]M01[]2L[  

1 A )b( - 2=R htiw daol CLR detcennoc seires a ot rewop sreviled retrevni egdirb Ø  dna Ω  ehT.Ω01=Lω
noitatummoc daol niatbo ot redro ni evah daol eht dluohs C fo eulav tahW.cesm 1.0=Temit cidoirep  

t rotsiryhtehT.sRCS eht rof t 5.1 sa emit ffo nrut tiucric ekaT.cesµ01 si emit ffo nru q daol taht emussA.  
ylno sniatnoc  tnerruc  latnemadnuf  .tnenopmoc  ]M01[]3L[  

)9  3 A - rats a rof ecruos V006 a morf deilppus si retrevniØ - 51 fo daol evitsiser detcennoc  dnif ,esahp/Ω
ht, tnerruc daol SMRehT daol e - 021 )i( rof sgnitar rotsiryht eht dna rewop 0 081)ii( noitcudnoc 0 

.noitcudnoc  ]M01[]3L[  

)01  1 A - 3 =R fo daol evitsiser a sah retrevni egdirb flah Ø E egatlov tupni c.d eht dna,Ω cd  etaluclac.V05=
E ycneuqerf latnemadnuf eht ta egatlov tuptuo SMR)i 1  )ii( . P rewop tuptuo eht  0 dna egareva eht )iii(  

 esrever kaep eht )vi( dna rotsiryht hcae fo tnerruc kaep – hcae fo egatlov gnikcolb  ]M01[]3L[.rotsiryht  
 
 

:yb deraperP  ASANAM.V  


